Punktacja roczna Ligi Tenisowej LKS Pasjonat 2016

1.Graca Stawomir
2.Ramenda Krzysztof

3.Wiodyka Wiodzimierz

4.Paszko Piotr
5.Pycinski Waldemar

6.Kuczmierczyk Mariusz

7.Markiel Daniel
8.Kubinek Dariusz
9.Fajferek Janusz
10.Sobik Wiestaw
11.Zywiot Marek
12.Galas Mariusz
13.Bittner Grzegorz
14.Stawowczyk Rafat
15.Magiera Henryk
16.Czopek Marek
17.Cichon Stawomir
18.Krecichwost Jacek
19.Kaminski Zbigniew
20.Grzywa Marek
21.Foltan Marcin
22.Gawron Marek
23.Gawron Kazimierz
24 .Stolarski Dawid
25.Ptonka Krzysztof
26.Kegel Lukasz
27.Paszko Andrzej
28.Krzempek Rafal

Maj Czerwiec  Lipiec
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30.Bieszczad Pawel
31.Kostus Marcin
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33.Witek Tomasz
34 Kowal Tomasz

35.Pietruszka Adrian
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